Chapter 3 Review Examples-Do not write on this
1.  T/F:  In all Normal distributions, the mean and median are equal.   True
2.  What is the total area under a Normal curve within three standard deviations of the mean?    99.7
3.  A trucking firm determines that its fleet of trucks’ gas mileages have a N(12.4, 1.2) distribution.  What percent of the trucks average less than 10 miles per gallon?

4.  The time it takes for an electronic product to move through an assembly line has a N(3.4, 0.5) distribution (in hours).  What percent of the items will take between 3 and 4 hours?
5.  Suppose that the heights of adult males at SDSU has a N(70, 2.5) distribution (in inches).  Between what two heights would the middle 95% of males fall?

6.  A packing machine is set to fill a cardboard box with a mean average of 16.1 ounces of cereal.  Suppose the amounts per box form a normal distribution with a standard deviation equal to 0.4 ounce.  

a. What percent of the boxes will end up with at least 1 pound of cereal?

b. 10% of the boxes will contain more than what number of ounces?

c. 80% of the boxes will contain more than what number of ounces?
7.  Populations P1 and P2 are normally distributed and have identical means.  However the standard deviation of P1 is twice the standard deviation of P2.  What can be said about the percentage of observations falling within two standard deviations of the mean for each population?

a. The percentage for P1 is twice the percentage for P2.

b. The percentage for P1 is greater, but not twice as great, as the percentage for P2.

c. The percentage for P2 is twice the percentage for P1.

d. The percentage for P2 is greater, but not twice as great, as the percentage for P1.

e. The percentages are identical.

8.  Which has the larger mean and which has the larger standard deviation?

